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Chapter 13 Performance Measurement Systems
Answer 1
(a)

Financial analysis

There are various financial observations that can be made from the data.
· Turnover is up 5% – this is not very high but is at least higher than the rate of inflation indicating real growth. This is encouraging and a sign of a growing business.

· The main weakness identified in the financial results is that the net profit margin has fallen from 20% to 19.8% suggesting that cost control may be getting worse or fee levels are being competed away.

· Profit is up 3.9%. In absolute terms profits are impressive given that Richard Preston is the sole partner owning 100% of the business.

· Average cash balances are up 5% – indicating improved liquidity. Positive cash balances are always welcome in a business.

· Average debtors days are down by 3 days – indicating improved efficiency in chasing up outstanding debts. It is noticeable that Preston’s days are lower than the industry average indicating strong working capital management. The only possible concern may be that Richard is being particularly aggressive in chasing up outstanding debts.
Overall, with a possible concern about margins and low growth, the business looks in good shape and would appear to have a healthy future.
(b)

Financial performance indicators will generally only give a measure of the past success of a business. There is no guarantee that a good past financial performance will lead to a good future financial performance. Clients may leave and costs may escalate turning past profits to losses in what can be a very short time period.
Non financial measures are often termed “indicators of future performance”. Good results in these measures can lead to a good financial performance. For example if a business delivers good quality to its customers then this could lead to more custom at higher prices in the future.
Specifically the information is appendix 2 relates to the non financial measures within the balanced scorecard.
Internal business processes are a measure of internal efficiency. Interestingly these measures can indicate current cost efficiency as much as any future result.

Customer knowledge measure how well the business is dealing with its external customers. A good performance here is very likely to lead to more custom in the future.
Innovation and learning measures that way the business develops. New products would be reflected here along with indicators of staff retention. Again this is much more focused on the future than the present.
Measuring performance by way of non-financial means is much more likely to give an indication of the future success of a business.
(c)

The extra non-financial information gives much greater insight into key operational issues within the business and paints a bleaker picture for the future.
Internal business processes

Error rates

Error rates for jobs done are up from 10% to 16%, probably a result of reducing turnaround times to improve delivery on time percentages. This is critical as users expect the accounts to be correct. Errors could lead to problems for clients with the Inland Revenue, bankers, etc. What is worse, Richard could be sued if clients lose out because of such errors. One could say that errors are unlikely to be revealed to clients. Businesses rarely advertise mistakes that have been made. They should of course put mistakes right immediately.
Customer Knowledge

Client retention

The number of clients has fallen dramatically – this is alarming and indicates a high level of customer dissatisfaction. In an accountancy practice one would normally expect a high level of repeat work – for example, tax computations will need to be done every year. Clearly existing clients are not happy with the service provided.
Average fees

It would appear that the increase in revenue is thus due to a large increase in average fees rather than extra clients – average fee is up from $600 to $775, an increase of 29%! This could explain the loss of clients in itself, however there could be other reasons.
Market share

The result of the above two factors is a fall in market share from 20% to 14%. Looking at revenue figures one can estimate the size of the market as having grown from $4.5m to $6.75m, an increase of 50%. Compared to this, Preston’s figures are particularly worrying. The firm should be doing much better and looks to being left behind by competitors.
Learning and Growth

Non-core services

The main weakness of the firm seems to be is its lack of non-core services offered. The industry average revenue from non-core work has increased from 25% to 30% but Richard’s figures have dropped from 5% to 4%. It would appear that most clients are looking for their accountants to provide a wider range of products but Richard is ignoring this trend.
Employee retention

Employee turnover is up indicating that the staff are dissatisfied. Continuity of staff at a client is important to ensure a quality product. Conservative clients may resent revealing personal financial details to a variety of different people each year. Staff turnover is possibly a result of extra pressure to complete jobs more quickly without the satisfaction of a job well done. Also staff may realise that the lack of range of services offered by the firm will limit their own experience and career paths.

Conclusion

In conclusion, the financial results do not show the full picture. The firm has fundamental weaknesses that need to be addressed if it is to grow into the future. At present it is being left behind by a changing industry and changing competition. It is vital that Richard reassesses his attitude and ensures that the firm has a better fit with its business environment.
In particular he should seek to develop complementary services and reduce errors on existing work.
Answer 2
(a)
· The firm’s days sales outstanding are more than twice the industry average, indicating that the firm should tighten credit or enforce a more stringent collection policy. Plus a higher than average bad debt ratio is an alarming signal in terms of the credit quality of customers.

· The total assets turnover ratio is well below the industry average so sales should be increased, assets decreased, or both. As the depreciation ratio shows that the company has relatively shorter-lived assets, management might have to consider a more productive, longer lived asset.

· While the company’s profit margin is higher than the industry average, its other profitability ratios are lower.

· Net income is generally lower than the industry average. Hence management should look into both the profit margin as well as the expense side of the operation to restore higher income levels.

· However, the company seems to be in an average liquidity position and its financial leverage is similar to others in the industry.
(b)
· If 2003 represents a period of outstanding growth for the firm, ratios based on this year will be distorted and a comparison with industry averages will have little meaning.

· Potential investors who look only at 2003 ratios will be misled, and a return to normal conditions in 2004 could hurt the firm’s share price. The efficiency ratio (e.g. Sales/total assets) is most likely be affected adversely because the sales would drop substantially whereas the investment in long term assets would not change greatly.
(c)

Window dressing figures in financial reporting is not uncommon.
Disclosed market data may not represent the whole picture, i.e. the industry average is biased towards large cap (survival bias).
The interpretation of data is subjective and there could be a range of possible conclusions.
Answer 3
(a)

Financial performance of Ties Only Limited

Sales Growth

Ties Only Limited has had an excellent start to their business. From a standing start they have made $420,000 of sales and then grown that figure by over 61% to $680,000 in the following quarter. This is impressive particularly given that we know that the clothing industry is very competitive. Equally it is often the case that new businesses make slow starts, this does not look to be the case here.
Gross Profit

The gross profit for the business is 52% for quarter 1 and 50% for quarter 2. We have no comparable industry data provided so no absolute comment can be made. However, we can see the gross profit has reduced by two points in one quarter. This is potentially serious and should not be allowed to continue.
The cause of this fall is unclear, price pressure from competitors is possible, who may be responding to the good start made by the business. If Ties Only Limited is reducing its prices, this would reflect on the gross profit margin produced.
It could also be that the supply side cost figures are rising disproportionately. As the business has grown so quickly, it may have had to resort to sourcing extra new supplies at short notice incurring higher purchase or shipping costs. These could all reduce gross margins achieved.
Website development

Website costs are being written off as incurred to the management accounting profit and loss account. They should be seen as an investment in the future and unlikely to continue in the long term. Website development has been made with the future in mind; we can assume that the future website costs will be lower than at present. Taking this into consideration the loss made by the business does not look as serious as it first appears.
Administration costs

These are 23·9% of sales in quarter 1 and only 22·1% of sales in quarter 2. This could be good cost control, impressive given the youth and inexperience of the management team.
Also any fixed costs included in the cost (directors’ salaries are included) will be spread over greater volume. This would also reduce the percentage of cost against sales figure. This is an example of a business gaining critical mass. The bigger it gets the more it is able to absorb costs. Ties Only Limited may have some way to go in this regard, gaining a much greater size than at present.
Distribution costs

This is a relatively minor cost that again appears under control. Distribution costs are likely to be mainly variable (postage) and indeed the proportion of this cost to sales is constant at 4·9%.
Launch marketing

Another cost that although in this profit and loss account is unlikely to continue at this level. Once the ‘launch’ is complete this cost will be replaced by more general marketing of the website. Launch marketing will be more expensive than general marketing and so the profits of the business will improve over time. This is another good sign that the results of the first two quarters are not as bad as they seem.
Other costs

Another cost that appears under control in that it seems to have simply varied with volume.
(b)

Although the business has lost over $188,000 in the first two quarters of its life, this is not as disastrous as it looks. The reasons for this view are:
· New businesses rarely breakeven within six months of launch

· The profits are after charging the whole of the website development costs, these costs will not be incurred in the future

· Launch marketing is also deducted from the profits. This cost will not continue at such a high level in the future
The major threat concerns the fall in gross profit percentage which should be investigated.
The owners should be relatively pleased with the start that they have made. They are moving in the right direction and without website development and launch marketing they made a profit of $47,137 in quarter 1 and $75,360 in quarter 2.
If sales continue to grow at the rate seen thus far, then the business (given its ability to control costs) is well placed to return significant profits in the future.
The current profit (or loss) of a business does not always indicate a business’s future performance.
(c)

Non-financial indicators of success

Website hits

This is a very impressive start. A new business can often find it difficult to make an impression in the market. Growth in hits is 25% between the two quarters. If this continued over a year the final quarter hits would be over 1·3m hits. The internet enables new businesses to impact the market quickly.
Number of ties sold

The conversion rates are 4% for quarter 1 and 4·5% for quarter 2. Both these figures may seem low but are ahead of the industry average data. (Industry acquired data must be carefully applied, although in this case the data seems consistent). It appears that the business has a product that the market is interested in. Ties Only Limited are indeed looking competitive.
We can use this statistic to calculate average price achieved for the ties
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This suggests that the fall in gross profit has little to do with the sales price for the ties. The problem of the falling gross profit must lie elsewhere.
On time delivery

Clearly the business is beginning to struggle with delivery. As it expands, its systems and resources will become stretched. Customers’ expectations will be governed by the terms on the website, but if expectations are not met then customers may not return. More attention will have to be placed on the delivery problem.
Sales returns

Returns are clearly common in this industry. Presumably, ties have to be seen and indeed worn before they are accepted as suitable by customers. The concern here is that the business’s return rate has jumped up in quarter 2 and is now well above the average for the industry. In other words, performance is worsening and below that of the competitors. If the business is under pressure on delivery (as shown by the lateness of delivery) it could be that errors are being made. If wrong goods are sent out then they will be returned by disappointed customers.
The alternative view is that the quality of the product is not what is suggested by the website. If the quality is poor then the products could well be returned by unhappy customers.
This is clearly concerning and an investigation is needed.
System down time

System down time is to be avoided by internet based sellers as much as possible. If the system is down then customers cannot access the site. This could easily lead to lost sales at that time and cause customers not to try again at later dates. Downtime could be caused by insufficient investment at the development stage (we are told that the server was built to a high specification) or when the site is under pressure due to peaking volumes. This second explanation is more likely in this case.
The down time percentage has risen alarmingly and this is concerning. Ideally, we would need figures for the average percentage down time achieved by comparable systems to be able to comment further.
The owners are likely to be disappointed given the level of initial investment they have already made. A discussion with the website developers may well be warranted.
Summary

This new business is doing well. It is growing rapidly and ignoring non-recurring costs is profitable. It needs to focus on delivery accuracy, speed and quality of product. It also needs to focus on a remedy for the falling gross profit margin.
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	Website conversion rates
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3.
Website hits growth
Between quarter 1 and quarter 2 the growth in website hits has been:
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